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M.Com. (Previous) ABST Examination, 2016
TAX LAWS AND PLANNING
Time Allowed : Three Hours

Maximtim Marks : 100

5PART—A (TWUe-3A) [Marks : 20
Answer all questions (50 words each).
All ciuestions carry equal marks.
aof e oFEE $1 vew T B I T e W
| | afess T &1
ot v & ofm wAA T
PART-B (@:réea) [Marks : 50

Answer five questions (250 words eéch), selecting one

from each Unit. All questions carry equal marks.
T TEE W W TR 99 I EY, B e e
FfTT TEF WA W OIW 250 TR @ Hfew A
Tl YA & ofF TR OEL
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PART-C (®UTE-T) [Marks : 30
Answer any two questions (300 words each).

All questions carry equal marks.

Wﬁmﬁm|mwww3oomﬁ@
afyws T =)

oty B e, T ¥
PART-A
(TUE-37) .

1. (1) How much penalty is being charged under Section
271F for failure to furnish the return of Income
before the end of relevant assessment year ? )

wate wEer of e @ vl am o
o v5qm 0 ¥ 9 w9 W uw 9niF @
I R S e fr s

(11) Belated return can be furnished before the expiry
S i PR we.eeee. year from the end of relevant -
................... year or before the .............. of

assessment whichever is ................._

4804/45/2,530 . 9



(iii) (a) Quarterly statement of TDS for the quarter
ending March should be filed on or before

(b) Tax is to be deducted at source, if the winning

from lottery exceeds RS. ....ooocoooeovvveerrnn...

(@) TDS <1 fauEl foery 7 =1 wAa 89 =l

fomet & fag R —
SR
(b)qﬁ\'mﬂ:m """""""""""""""" @33[]0%%\,’,

(iv) Can a widow be Karta of Joint family ?
T faver g ofem § w8 gedr 82
(v) If book profit of a C.ompany exceeds Rs. 10 crore,

what would be minimum alternate tax rate ?

AR TF FEA H [IE A 10w G R
g, @ A Sehfeuss FX W RN OB

(vi) How much amount is deductable U/S 80P(2) (c)
from income from other sources for Cooperative
Society ?

T WEHN Wi @ et ot W @ o ¥ Y uw
80P(2) (c) % I=Fia et Tfer wfar w272
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(vii) What is main difference between Section 54

and 54F ?

UM 54 T 54F & - I TR a3
(viii) Wha’r: is the maﬁmﬂm limit of Investment under

Section 80C ? 7
amsoca%awhﬁﬁaﬁﬂﬁafwmw
27 -

(ix) A firm has five heave goods vechicles, out of
which two were pruchased on hire-pruchased

system on 20.1.2015. It has four goods carriages

other than heavy goods vehicles. What would |

be taxable income under Section 44AE 7

w W % T e 9 e g # 9 % R
FI-Tg W 20.1.2015 H TUH TR TE AR

._Wwa%aﬁfﬁaﬂwmam%mmmm
% oRld w AT e wm Y

(x) In order to avoid dividend distribution tax, what

alternate option is available to company ?

e AT & H TN & fag S % I
w1 faFey Suesd &
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PART-B
(Evs-9)
UNIT-I

(FTE1)

2. X, an individual, has got his books of account for the
year ending 31-3-2015 sudit_ed under Section 44AB.

His total income for the assessment year 2015-16 is

Rs. 2,50,000. He desires to know, can be furnishes

" his return of i income for the assessment year 2015-

16 through tax preparer.

YR 44AB & STRG TF AL fEd 31.3.2015
T TR A o % oY ST ol Rl  imer
TN w FERe 99 2015-16 & o S@e! em
2,50,000 T. ¥1 9% 98 WA WRd € fF R 98 ST
A w1 faene w Faio a6 2015-16 % fog &
TIRFA ® HEW W YR L Rl 2

3. A return of income was filed within the Statutory
time provided under the act, without making the
paymentr of self-assessment tax due as per return;
the samé was paid before completion of assessment.
The assessing officer~wants to declare the return as

invalid. Is the assessing officer justified ?
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e & S9N ool W FaRer S # gan fF5e
fo sfufem & ewrfa wsw duife owg o &
sT=x fed wEd # e sy quf 89 9 Tew
L T AA R T wERe ifyent 3@ fed #°
=g 2

UNIT-II

(F®TS-11)

4. Discuss the liability for tax deduction at source in

the following cases :

(a) An Indian company pays dividend on preference
shares to a shareholder of the amount of

Rs. 10,000 on 30-9-2014.

(b) A Company pays to a doctor a monthly retainship
of Rs. 1,500 for attending an outpatient clinic at

its factory premises.

e ofiferfaal ® Sgm wm W wdfq & fau sifre

=t fog=m =sifSE .

(2) 30.9.2014 I TH 9RGE HEAE 10,000 & &
AR S R A AE S =Rd
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(b) Wmﬁmﬁﬁmﬁm&a&rﬁ
3 fou T FwA w1500 %. UH SE Tl
foqein @ fag gmE S e o

5. R estimates its income for the previous year 2015-
16 at Rs. 4,90,000, besides this income. Iilz-has also
earned long term gain of Rs. 80,000 on transfer of
gold on 1.12.2015. Compute the advance tax payable

by R in various instalments.

SR 2015-16 T ¥ b fAQ 490,000 ¥ A FH
S T §1 T SRR 1122015 F O
iR T W 80,000 . 1 EpE W st
femam Wmﬁmmﬁﬁ-mmwﬁ
UM SIS ,

UNIT-IIL

(FTE-111 )

6- For the assessment year 2015-16, the RGS Coopera‘p_ivé
Society derives total income from the following

sources .

Income from processing with aid of power Rs. 10,000;
Income from collective disposal of laour of its

members: Rs. 15,000; Interest from another
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Cooperative Society Rs. 30,000; Income from house
property Rs.‘ 80,000 and Income from other bﬁsiness

Rs. 11,000. Determine its taxable income.

2015-16 *X fryfer of 5 faq smsuy, Hs?ﬂﬁ
vﬁ:ﬁr%ﬁﬁaﬁaﬁ‘@ﬁawmﬁ:

Wﬁa?ﬁﬂ%’m@mﬁ@m,@ooa,wﬁw
$%Tﬁqﬁaﬂm{%$ﬁwmﬁmls,oooa,m
ﬂmﬂwﬁ?ﬁr@mm,eooa,wawﬁ@m

80,000 & T wEmE W S 11,000 %1 #T grg
A T Ty Hifeq|

7. 'What are the main features of assessment of Joint

Stock Companies ?

Hﬁm@%mﬁawwﬁaﬁwaﬁww
1 E?

UNIT-1Iv

-(_Wrsf-rv )

8. Briefly explain the provisiong of Section 91 of the

Income Tax relating to avoidance of double taxation,

aﬁwwmﬁﬁm@mﬁaﬁmaﬁlﬁwﬁ
mm?mm‘r‘m‘ﬁwﬁwaﬁﬁw |
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9.  Explain the provisions of Section 10(38) and 54EC

in relation to tax planning.

(3FTE-v)

10. There are two members A and B in Joint Hindu Family
“having a capital of Rs. 12,50,000. They can run a
business as a Business of an individual Joining the

other as an employee and money-lender or as a HUF. -

(a) If the business 1s run as of an individual, the

other member will reéeive salary of Rs. 2 lakh

and interest @ 129, on Rs. 6,25,000.

(b) If the business is run as a HUF each member
will receive salary Rs. 1,50,000. Suggeét which
form of Business organisation should be adopted
from tax point of view, if the expected business _

income is Rs. 5,70,000 for PY. 2015-16.

Wﬂﬂaﬁﬁ%qﬁwﬁawaa’rm%‘ﬁaﬁ
D 12,50,000 & ¥ ¥ o sy & o B
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L1,

=9 § T TEA § O 9 MU WS F el FH
T q FEEK ® €9 F YE THA © A T HUF.
3 T oEuE F THT T |

(a) A o & ®Y ¥ jadE w@El S8, 3
e W 2 Ar@ T 9ad a9l 6,25,000 ® W 2%
e WE Sl

(b) afs ogEE HUF. @ &9 ¥ Sa@ 9 g,
Fee # 1,50,000 T Ml HT & g W
SEETaE ST 1 R W EY ST FMET 2
Wmlﬂ?ﬁﬁfaﬁwﬁamﬁﬁm
5,70,000 % &1

B

From the point of view of tax consideration which

one of the following would you prefer and why ?

”‘(a) ‘Payment of Dividend or issue of Bonus.

shares

(b) Issues of Shares of issue of Debentures.

mﬁgﬁaﬁﬁmﬁ@mﬁmmmw%ﬂ
A = ?

(a) ®FE gl w1 PR A e S
) sigi w ot a s R
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PART-C
(EUE-|)

12, On 7.8.2014 an order under Section 143(3) of the
Income-tax Act, 1961 for the assessment year 2012-
13 is received. On perusal of the order, the following

two points are noticed :

(a) Credit of Rs. 12,500 for T.D.S. was not given
“even thought duplicate copy of form 16A was

submitted with the return of income.

(b) Unpaid Sales tax liability of Rs. 23,600 on
31-3-2013 was actually paid on 28-9-2013 before
submitting the return of income. This amount

is disaliowed. ,
X Frafer o 2012-13 # g R afafem, 1961
H 9 143(3) & =PI 7.8.2014 i Tk 3T WS
BTl SRY & fFaed ¥ f @ fag =m o e

(a) TDS. & faw 12500 = R e = D T
off, Saih ®H 16A HI gwitehe wHdt et & wy
T @i T i

() et s = ¥ T=d 31.3.2013 H 23,600 .

T g T fawa W oafdd w1 oA o
29.9.2013 & WM =
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13.

14.

What are the provisions of law regarding deduction

of tax at source from the following incomes ?
(a) Dividend "

(b) - Interest on Securities

.(c) Payment of Rent.
’ﬁmm@mwwmﬁmﬁﬂaaﬁrﬁm

o 3 JEyE § 2

(a) YIS

(b) wfayfeal w =
(c) W w1 Ml

"The Profit and Loss Account of R Ltd. for the year
ended 31—3-2015, showed a Net profit of Rs. 2,50,000. .

(a) The Profit and Loss Account included in the

Debit side the following :

(i) Rs. 20,000 interest paid on money borrowed
for extending the Company’s factory
premises the expansion was however still

in progress.

(ii) The depreciation provided in the books
Rs. 50,000; however the amount computed
under the Income-tax Act Rs. 1,50,000. .
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(b)

(c)

’

(iii) Rs. 25,000 was paid to the Company’s lawyer

for arguing appeals of the Company before
the Tribunal against levy of penalty for some
earlier appeals which have been dismissed

the tribunal.

(iv) Rs. 3,000 paid for late payment of the

_ Professional tax as penal interest.

(v) Rs. 500 being fine iﬁ:tposed by the

Municipality for violating their regulations.
(vi) Reserve of Bad debts Rs. 15,000.

The credit side of the Profit and Loss Account

included :

Dividend from :

(i) Company’s Foreign Subsidiary in Japan

Rs. 10,000
(i1) Unit Trust of India Rs. 25,000.

It is also observed that both the Opening stock
of Rs. 90,000 and Closing stock of Rs. 1,08,000

are undervalued by 10% on cost.

Compute the Total income of the company for the

agsessment year 2015-16.

4804/45/2,530 13 - BT 8.



¥R fa. &1 313.2015 # ToE BF 9@ 99 @ fow
TE-BI WA 2,50,000 & H FE N FH FTT
2
(@ @Y TH e # Sfae uw H e ofmfg
g
-(i)wm-vﬁmﬁﬁwa%mawﬁ
T TR W 20,000 S g, faem
w1 et ot wfs woF
(ii)zfeaaﬁ'ﬁ5ooooa BTE &1 qrayE fa,
aﬁmﬁaﬁmﬁmwooow
aﬂﬁfa?raﬁmﬂr
(it)) W&d feg7a g0 @it w1 W e W
T T e % faes fogra @ wr
FOA K A WG @ fau e wm
25,000 T YT m T
(iv) T # F W 4 gER FH F fau
3000% UT TS % ®Y F gEH

v) TRAf®ET 4 freml & ek B form
500 % SR ermEm T

(vi) €99 ®I % AT 15,000 T
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15.

16.

b) @9 T B & wfee vy o whinfag @
SIS o
(i)wﬁ‘ﬁéﬁmwﬁ 10,000 %.
(ii) 9T = &% frem & 25000 =

(¢) ugaﬁwwﬁﬁmﬁwmﬁm%,ooo % qer
S wldE 108,000 % €, S @ ® 10% o
HH W Heditha R

e a9 2015-16 & faw ww@ smr o T
Eaisey

What propositions should be borne in the mind for

the purpose of Tax planning in respect of Capital

gain ?

Wrww&*waﬁawﬁaﬁmﬁfmaﬁ?@aw‘r
H wH A W e

Trapti Limited wants to raise capital of Rs. 20,00,000
for a Project where earning before tax shall be 40%
of the capifal employe‘d. The Company can raise debt
fund @ 18% p.a. Suggest, which of the following 3

alternatives should it opt for :

(a) Rs. 20,00,000 to be raised by Equity capital
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(b) Rs.16,00,000 by Equlty and Rs. 4,00,000 by Loans
(¢) Rs.4,00,000 by Equity and Rs. 16,00,000 by Loans.

Assume the Company shall distribute the entire
amount of Profit as dividend and Tax rate is 33.99%
and Dividend tax is 16.995% 7

afa fa. @qﬁaﬁw%mzooooooaxﬁ{sﬁ
qﬁxﬁmﬁﬁ?ﬁ%,wm@ruﬁmﬁm40%
B TR FEET 18% UGEd # W ¥ R H
gfem & whar 21 e 3 faehedl ® ¥ fepmemr =
foran s =nfEw? '

(@) 2000,000 % Fwal fwh o giow fewan s =y
) 1600000 & &l G T 400,000 % =07 9
(¢) 4,00000 T GEAT M q@ 16,00,000 % FOT g

o T werE e T o R URT w e
#mnﬁa@%ﬁ%awmﬁaw%%am
T H F L 16.955% &
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